BT TRIA O - HESHEE R T SFEJ’ZESEOQH KIRHE
- D - 34 I:l
BlA=3 74325 159,038 75,667 83,371 [E;EFILAT4AT 746 1,851 866 985
E 4,656 9,850 4,543 5,307
BEKET1T 894 1,850 898 952 |ER EEFZHT2T 1,423 3,241 1,540 1,701
BEKET2T 358 795 384 411 5 1,423 3,241 1,540 1,701
B 1,252 2,645 1,282 1,363 |R=E~EET1T 134 372 173 199
< [E BT 9,037 21,693 10,293 11,400 |E=E~sER2T 287 568 274 294
Lt RER1T 341 546 271 275 |R=E~ ERI3T 453 1,047 507 540
Tt RERT2T 238 428 196 232 |R=E~ER/T4T 209 423 195 228
Lt RER3T 260 460 243 217 |R=E~ ERI5T 360 652 340 312
Lt RERT4T 156 291 146 145 5| 1,443 3,062 1,489 1,573
It RERST 147 307 157 150 | KZIFBT1T 767 1,659 784 875
Lt RERGT 94 224 115 109 | KEI1RAT2T 905 1,871 891 980
TtERER7T 82 174 81 93 Et| 1,672 3,530 1,675 1,855
Tt ERERST 131 219 106 113 |EmRERT 90 194 92 102
g 1,449 2,649 1,315 1,334 [ RERT2T 149 333 170 163
tfEBET1T 284 578 278 300 (B RERI3T 372 882 395 487
tfEBET2T 1,183 2,592 1,208 1,384 |FARERTAT 280 477 194 283
tfEBET3T 1,029 1,904 939 965 (B RERST 141 304 144 160
tfEBET4T 932 2,075 1,020 1,055 st 1,032 2,190 995 1,195
g 3,428 7,149 3,445 3,704 |F{E AT 2,209 4911 2,416 2,495
ERATET1T 625 1,521 762 759 | = AHT 244 449 219 230
ERATET2T 360 833 393 440 |BEEERMET1T 257 490 229 261
ERATETST 371 843 403 440 |BEE EFRMET2T 567 1,165 569 596
g 1,356 3,197 1,558 1,639 (BEEFRMATST 730 1,549 721 828
==Yl 1,049 2,188 1,052 1,136 (B E B RMET4T 696 1,335 656 679
HEWEET 254 505 232 273 |BEEERMETST 693 1,614 783 831
HERE2T 421 698 304 394 5| 2943 6,153 2,958 3,195
HEWREIIT 254 469 234 235 |BEEMBILAT1T 214 362 164 198
HEREAT 132 276 129 147 |BEE EHBILRT2T 467 939 442 497
g 1,061 1,948 899 1,049 |BEEEBH#EILEIST 519 1,094 530 564
HEREET 1,627 3,056 1,341 1,715 |B & B#ELET4T 617 1,303 624 679
HEREET2T 2,693 5,626 2,646 2980 |BEE#BILATST 735 1,679 807 872
HEFETST 2,967 5,730 2,528 3,202 B 2,552 5377 2,567 2,810
HEFETAT 2,007 3,761 1,653 2,108 |EEBHEET1T 1,040 1,994 973 1,021
HEFETST 1,315 2,790 1,332 1,458 (B E BiBAT2T 145 307 161 146
£t| 10,609 20,963 9500 11,463 [BEBEM#AT3T 2,237 4473 2,162 2,311
HUEET1T 780 2,168 1,069 1,099 B 3,422 6,774 3,296 3,478
HYERT2T 533 1,313 638 675 |BEERZET1T 657 1,402 648 754
g 1,313 3,481 1,707 1,774 (B EEBHZET2T 476 1,003 470 533
MEET 443 962 472 490 | BEETZEI3T 318 762 364 398
EET2T 345 825 398 427 B 1,451 3,167 1,482 1,685
B 788 1,787 870 917 |BEEEARETTT 674 1,327 663 664
WHEERT1T 724 1,869 890 979 |BEEEARET2T 265 603 292 311
HEERT2T 214 480 234 246 |BEEEARETST 1,041 2,605 1,278 1,327
RT3 T 761 1,637 824 813 B 1,980 4535 2,233 2,302
B 1,699 3,986 1,948 2,038 |EE BMEmAET1T 309 689 333 356
RKEIRAT 5832 13,054 6,311 6,743 |EE BIEmMET2T 236 465 227 238
hRERTT 272 530 251 279 |BEE EEBET3T 612 1,308 644 664
hRER2T 191 343 150 193 B 1,157 2,462 1,204 1,258
hRERST 235 507 243 264 |J\TFdt 97 198 89 109
hRERT4T 267 528 258 270
B 965 1,908 902 1,006
o A BT 603 1,282 618 664
hEEEET1T 591 1,260 593 667
hEEEET2T 789 1,309 600 709
HEEEEST 458 1,141 538 603
hEEEET4T 737 1,461 716 745
HEEEEST 839 1,685 797 888
hEEEET6T 3,307 6,147 2,930 3217
5t| 6,721 13,003 6,174 6,829
ESgrii) 882 2,206 1,087 1,119
BEREBILETTT 1,053 2,174 1,040 1,134
BHXEFILET2T 992 2,220 1,062 1,158
BXEFILAIST 1,865 3,605 1,575 2,030
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